3R AECRP A BFERTEIEYALE

PEE S B - F ~ - KR FEE

E LA E R AR RS

P#I2 8 fF(111.01.24-25

S 49 %~ WY N A
VS ok 2N | %1 & | 36 4
* %L 0T e M3 F o H

ELAEEIRCTE S R UL
l.yempr i 2 111. 01, 24-25
2.3 B 2R - MR FRE > BB

S MRERBEFE/HEELLEE  E-EY &%

a7 v', PO
;_,{ 'L'p .

— o FARER
1. 2Z#HE 100 = 2 enshk > w490 f2 ‘
2. HFEET e BEHRY - H2 R ER o N ﬁir’jél
4 %amR

EFT R SRR PR 2 DBk

=

2.REFZRFREEEY T8 X4 iR -

i

27

1T o

A
~ER AT A E o

‘zw
Eﬁ
—\
W

—~\ &\

A
T &

|

'}'

EE A4 RIF RO E

=

—\

o

Wt ik -
EEAPE PR E O PHREEFEREZ DY > 2L AR FaniEd

AR SR B

1% RFIE> SHAP 111.01.28 1 s L A5 E W2 3 %R
https://reurl.cc/mGXE8M

2.7 #p4F 111.01.28 X hskEt B4 -~ % Lis2 ¥ htips://reurl.cc/ebalex



https://schnews.tn.edu.tw/modules/schnews/index.php?news_sno=8291
https://reurl.cc/mGXE8M
https://reurl.cc/e6a1ex

R I= EAh

BhR R T AR AR AR KA A

FAEPREBHE MBI NRBWHILIGZ R
KB EREAPERRBUS TORRTED . WERN kI 18 B

BT . F@ifh. FERE  SRFAMATE  —XHBLE. —HBIeM | LA
FMAZ | {HEA63K ; AR FEEMZ | 1HIEA68K,

WA AR




I0FERABAFPZFFIEY S54 (B2 EEF)

1/24% — KRR KOGE ARER

it | iz 1 FEmin
GBI 30
X CEH | RESRH=F ; 5
KRREESRB = 20
ReE=RH=F | BCESRTIIREES ! 35
MRATINRIGEI L5 90
BCESERTIRIEEE | ammOERER/NE : 65
FERR(OEBEER/NS) 55
ammOEER/NES ] ABF_FHH= : 60
REH(CEEHZ) 30
AR_RHH= | EEBEEERERRTIL : 65
RRE(CREN fRSEZERERRTIY) 20
HEREEERERRATY | W ETEEKEBYE-FKHE : 30
ARE (L ETEEKEEYE-FKHE) 20
L ETEEKIE B EE- K & BZEMENB . 40
REHEREHENE) 10
ZEEEHMENBE | XC/T ] 60
635

1/ 2558 F_KIERR /i-? )] RERE

it i FERmin
;nﬁ%iﬂiﬁﬂiﬁﬁ 0730 [ 0800 30
XxCaT | AR L3R .6] 0800 [ 0825 25
ERERY(ZER3REHE) 0825 [ 0830 5
ZHEZIEE3R | 7-ELEVEN Z%Fh .2[ 0830 [ 0925 55
R B Bh(7-ELEVEN 22ZP9h) 0925 [ 0945 30
7-ELEVEN Z%Fih | TRIZF-EREE 7] 0945 [ 1125 100
REHEEEE) 1125 [ 1200 35
EERES | EmaE B RERE .0 1200 [ 1230 30
FERE EREEEERTE) 1230 [ 1320 50
EHEBLERE | EE1E 3] 1320 | 1400 40
SHRER(EHEEE) 1400 [ 1405 5
T RIER Bl | 2RENBE aBaLE .2[ 1405 [ 1500 55
HEEEZEIEE ama)lE) 1500 [ 1520 20
2XREABE amalE | ACBP 1] 1520 [ 1620 60
540.0

e
Sisiyorzeis |

(IR L A AR D D, TS







